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Q-1 Define following terms (any five)                                                                               (5)
        1) Cycle 2) Frequency 3) Time period 4) Maximum value 5) form factor 
        6) Peak factor 7) Instantaneous value

OR

Q-1 Prove that RMS value and Average value 
                    IRms = Im/
                     Iav=  0.637Im

Q-2 State &Explain Kirchoff’s law                                                                                   (5)
OR

Q-2 Derive the equation of Delta to Star or Star to Delta transformation

Q-3 Write Comparison between magnetic circuit and electric circuit                           (5)
OR

Q-3 Explain force between  two parallel conductor carrying current

Q-4 An alternating current from the equation  i=42.42sin628t  find the following        (5)
       1) Maximum value of the current 2) RMS value 3) Frequency 4) Average value
       5) form factor

OR

Q-4 Two long conductor are kept in parallel in air at a distance of 50cm if 20A flows
       in opposite direction , so find out the force acting per meter
                                        
                    

                                  Ȥુજરાતી ભાષાતંર                                                           



       ̆ ĕ  -૧  નીચેના પદ ƥયાƉયાિયત કરો. (કોઇ પણ પાચં)                       (૫)

      (૧) સાઇકલ     (૨) આɂૃિĂ     (૩) આવૅતકાળ     (૪) મહĂ મ �ક�મĂ  

      (૫) ફોમ½ ફ°ƈટર (૬) પીક ફ°ƈટર (૭) તƗë �ણક �ક�મત

અથવા

      ̆ ĕ  -૧  સા�બત કરો ક°,

 R.M.S �ક�મત,      I RMS = IM / √૨                                                                                             સ

�ક�મત,    I av    =    0. 637 Im

̆ ĕ– ૨  �કચҴફના િનયમો લખો અને સમĤ વો.                                            (૫)                                          

અથવા

̆ ĕ– ૨  ડ°ƣટાથી ƨટાર ˼ાનસફોમ±શન અથવા ƨટારથી ડ°ƣટા ˼ાનસફોરમ±શન સમĤ વો.       ̆ ĕ  – ૩ મેƊનેટ�ક સરક�ટ

અને ઇલેƈ˼�ક સરક�ટ ની ȱલુના કરો.              (૫)   

અથવા

    ̆ ĕ  – ૩ વીજ̆ વાહ વહન કરતા બે સમાતંર વાહકો વƍચે લાȤુ પડȱંુ બળ સમĤ વો. 

    ̆ ĕ  – ૪ એ.સી. તરંગના Ʌ ૂ́    i = 42.42 sin628t આપેલ છે. તો નીચેના �ક�મતો 

              શોધો.                                                                (૫)

(i) ̆ વાહની મહĂ મ �ક�મત 

(ii) R.M.S. �ક�મત 

(iii) આɂ િૂત

(iv) સર°રાશ �ક�મત

(v) ફҴમ ફ°ƈટર

અથવા

    ̆ ĕ  – ૪ બે લાબંા વાહકો હવામા ં૫૦ સે.મી. ના Ӕ તર° સમાતંરમા ંરાખેલા છે. બđેમા ં

              થી ૨૦ A નો ̆ વાહ િવȿુć �દશામા ંવહ°તો હોય તો બે વાહકો વƍચે ̆ િત 

              મીટર° ક°ટɀંુ બળ લાગશે તે શોધો. 

                                  

                                


